

$$\begin{aligned} & \mathbf{A+B=C} \rightarrow \mathbf{C-B=A} \rightarrow \mathbf{C-A=B} \rightarrow \mathbf{A+B=C} \rightarrow \mathbf{C-B=A} \rightarrow \mathbf{C-A=B} \rightarrow \mathbf{A+B=C} \rightarrow \mathbf{C-B=A} \\ & \rightarrow \mathbf{C-A=B} \rightarrow \mathbf{A+B=C} \rightarrow \mathbf{C-B=A} \rightarrow \mathbf{C-A=B} \rightarrow \mathbf{A+B=C} \rightarrow \mathbf{C-B=A} \rightarrow \mathbf{C-A=B} \rightarrow \mathbf{A+B=C} \\ & \rightarrow \mathbf{C-B=A} \rightarrow \mathbf{C-A=B} \rightarrow \mathbf{A+B=C} \rightarrow \mathbf{C-B=A} \rightarrow \mathbf{C-A=B} \rightarrow \mathbf{A+B=C} \rightarrow \mathbf{C-B=A} \rightarrow \mathbf{C-A} \\ & \mathbf{=B} \end{aligned}$$
[illegible]